uoneolyoadg jonpoud

£
o
2
©
()
£
E
o
z
S
z

<t

GMT GLOBAL INC.

Adapting Bracket © For Z-Axis Application

Z-Axis Bracket

AZB40-1

AZB40-2

AZB60-1

AZB80-1

50

1
4-M3x0.5 21616 9

4-93.5

%;
N
16\_16 ‘ 4
75

39

[——~32 4-035 | 30 ]

©6.5*71L

4-M3x0.5

&
4-035
of

70
10_25 25 _10

4-M4x0.7 *‘:’e © ii
[ |
I i
& H
4-04.5 :;”@ i}
e o ol
50 -
4-04.5
" é) é‘ ?8*73L
N
o)

25 | 25 Jgl

80

25

"o

8-M4x0.7*9L

4-045 |

| 25 hol 25 [ 25 J1dl |5

4-94.5
@ 8*93L

25

Adapting Bracket © For Z-Axis Application

Z-Axis Bracket

<t

GMT GLOBAL INC.

uoneolyoadg jonpoud

AZB80-2 o
25|25 | _8-M4x0.7'8L
ol T 11/ 6045
IS
11 j/ 9 4-045
Rl = 50 @8*123L
i 18 -
ue © etm @ =
e e |
B HE .
e
AZB100-1
90 4-M4x0.7 10 58 45 45 9(2')(5%5
a
o e P @ [
o) e |g ] ® i
°o o b ¢
o) o |9
———
100 100
AZBT20-1 50 50 10, 72 100 el
7-M4x0.7 8451
i s Vs g ]
e o % ¢
8| @ o |3 8
® b3 I I
© © |o =
. .8 ® ®
© * ©
e 1]
120 120
Specification Unit: mm
Model No. Transmission Direction Weight
Aluminum+Black | S50C+Nickel
Anodized Plating ez = SR E E (kg)
AZB40-1 AZB40-1-N ° ° ° 0.08
AZB40-2 AZB40-2-N 0.07
AZB60-1 AZB60-1-N ° ° ° 0.19
AZB80-1 AZB80-1-N ° 0.29
AZB80-2 AZB80-2-N 0.41
AZB100-1 AZB100-1-N ° 1.04
AZB120-1 AZB120-1-N ° 1.80

£
o
e
©
(0}
£
E
o
=
s
S




<t

GMT GLOBAL INC.

<t

GMT GLOBAL INC.

Adjustable Spacer Adaptor Plate

Adaptor Plate

Adjustable Spacer

U U
= =
(@] (@]
= 4045 8‘
c . -4, - -

5 ASAP-40 1 1 e AIB-[]-120-120 5
o~ 75|75 ‘ 9-M3x0.5 B -~
'g) | | : F_ 24x4P=100 ‘F _g)
® ‘ ‘ - - ®
2 G WN{}W* ® - - - o o,
(Zj.? KO, : w w ° ° ° ° °|g (:jh
gh)' - < ° ° ° ° o E -g—_)l-
S (u\’, ® e © o o | & >

© ~—
G @ e e 4 @y
o Yo'\ o 065
G116.5L \_21-M4x0.7

040 ‘ ] Et
OO]:‘ @MT RN sh/\:;eln‘i’clmmn ‘

EAIB-[]-120-200 EAIB-[]-120-300

Y Suitable for the precision stages, or can be mounted on the anti-vibration platform.

ASAP-60 ASAP-80 ) )
6-04.5 F_._ 25x6P=150 __F F_. 25x10P=250 __F
6—(234.5 32 32 ) ©8*4.5L T T 1 —
2 2 - 12.5]12.5 ‘ 11-M4x0.7 @ o o o o o G| ® o © © o o o o o o & |-
F—»12'5 ~—W12'5 | smaxoz
l © © @ @ @ © © @ © (3 (3 @ © @ © © (3 ©
a g | * J © + = =
@ @ 9 e © e © @ (-3 @ i < © © © L] © © o (-3 o © EILL
0 S S 3 4
o 8 “ 8 © = o o o ] o © © ] © © L] @ -3 3 & (-3 ©
o 16} @ & © @ © @ & @ ° ° ° ° ] & m @ ® ° o ° ] ° ° o & =
ol @ - - )
9 & o o @ & @ \ (Z?W?*gg\_ \_31-M4x0.7 @4]?’2; 51-M4x0.7
& & & & & & l l ﬁ l E:
060 | 080
o [Ear e wmmm| o [E= e Specification Unit - mm
Model No.
A g [Numbers ) 4 E F Material | Surface
M4 M6 of Hole Finish
AIB-4-120-120 |AIB-6-120-120 120 21 10
EAIB-4-120-200 | EAIB-6-120-200 120 200 31 10
Specification Unit : mm EAIB-4-120-300 | EAIB-6-120-300 300 51
Table . - . . AIB-4-150-150 | AIB-6-150-150 150 21
Model No. Size Material Surface Finish Suitable for The Following Gmt Stage Models EAIB-4-150-200 | EAIB-6-150-200 150 200 31 10 Aluminum | Black
25 alloy anodized
ASAP-40 40*40 MC1B-40, MC2B-40, MC4B-40 EAIB-4-150-300 | EAIB-6-150-300 300 51
E AIB-4-200-200 | AIB-6-200-200 200 200 45 25 £
o . . . R . _ [}
§ ASAP-60 60*60 Aluminum alloy | Black anodized | MC1B-60, MC1B-90, MC1B-140 EAIB-4-200-300 | EAIB-6-200-300 300 73 §
-4-300- -6-300- 272
;—% ASAP-80 8080 MC2B-60, MC2B-90, MC4B-60, MC4B-90 EAIB-4-300-600 | EAIB-6-300-600 300 600 é
g EAIB-4-450-600 | EAIB-6-450-600 450 600 410 g
% % 4 * M6 mounting holes have been initially set on the 100 mm area in the middle of the plate. §






